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o|s|AFR=2 | 2019-10-21 R S PN = 8y 156,000| 7t=
9|3 AFR2 | 2019-10-22 x| o soted R 2 ZhES 208 | 426,000 7t=
o3| AR = | 2019-10-22 Ko Bkl 2 pad Zhets| 78 | 141,000/ 7=
o3| AH2= | 2019-10-23 o 5| 2% FotAlot =2l 2 9|3 Zhet 5| 129 | 281,000 7=
o 3| A2 = | 2019-10-23 X BHotl T BB ZHEts| 8 80,000 7=
o| 3| AL2 = | 2019-10-25 x|of 3okl e ZhE ZhEts 6y 73,000]  7h=
ol 5| AR | 2019-10-25 x|of sotd 2 ghed 7S 118 | 230,000] 7=
o|3|AFR2 = | 2019-10-26 X|od Hotd S 2 ZHEtS] 4 78,000 7t=
o3| AR = | 2019-10-26 R ET BAX 2E 49 35,000 Ft=
o 3| AR | 2019-10-28 X BHotl T BB ZHEts| 128 | 266,000] 7t=
o 3| AR | 2019-10-28 Ko Bkl 2 ped Zhets| 68 | 153,450 7t=
9|3 AFR2 | 2019-10-29 x| soted e 2 ZHES 68 | 130,000 7t=
o| 3| AFRE= | 2019-10-30 o|3| 2 siohAtel =o| & 9|5 ZHE S 49 44,000( 7t=
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o|5|AHRS | 2019-10-08 X|od Bty R pEd ZhEts 2y 24,000 Ft=
o| 3| AF2Z | 2019-10-08 X|of SOt R 2He ZHEtS| 5 | 116,000 7I=
o3| AHR= | 2019-10-10 Ko 5okl 2 pad Zhets| 6d 49,000 7=
o3| AHR= | 2019-10-10 o 5| 2% FotAlot =2l 5 9|3 Zhet 5] 6% | 128,000 7=
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o| 3| AHR= | 2019-10-24 FEY RIEE FAUS) EZTY | 50,0000 Ft=
o3| AFR = | 2019-10-24 M2693| A|3| ahelel el M4 108 | 216,000 7=
o|2[AbF= | 2019-10-24 |HM269= A2 ML Xt 2|2 &AM 2|2 4 ZH| 139 264,000 7t=
o|3|AFR 2 | 2019-10-25 2693 AA S Ml s 7HA T ZrAlel | 161,200 FHE
|3 AF2 2 | 2019-10-25 H 2695 A5 5UXL A Al 178 | 870,000 7=
O|B|AHR = | 2019-10-25 |M2693| AAI3| M4LR} 3|2 FA 2| S4 ZH| 133 150,000 7t=
o| 3| ApR= | 2019-10-28 FEH 2HEE 7AGE) EZ7Y | 290,500 Ft=
o| 3| AHR= | 2019-10-28 HM269=] Al deleldal ZH F ARl | 174,400 Ft=
O|B|AHF= | 2019-10-28 (H[2693| A5 M5 Rl 32| EA o2l S4 AH| 149 351,000( 7t=
o| 3| AFRE = | 2019-10-29 M| 2698| 2IAI3| M2k}l 235]2| FA] 228 | 480,000\ 7t=
o| 5| AFE= | 2019-10-29 ofl oY eT ¢ 7HE3| 8 162,000 7t=
o| 3| AHR= | 2019-10-30 FEH RIEE FUGE) SE7 | 30,0000 Ft=
o| 5| AFE= | 2019-10-30 offl o|HatE i du|tE 74 oFZF¢l | 39,0000 Jt=
o| 3| AFR= | 2019-10-30 FEY RIEE FAUS) EE7¢ | 286,950 Ft=
o| 3| AHR= | 2019-10-30 FEH R2IEE FAGE) SE7 | 251,090 Jt=
o| 3| AFR= | 2019-10-30 FEH 2IEE 7AGE) SE7e | 198,000 Jt=
o3| AFE= | 2019-10-31 ofl oY eT ¢ 7HE3| 149 332,000( Ft=




